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1. (u20%, ®10%) °-�”Ì: (a) limx→0

sin 3x

|3x − 2| − |x + 2| £

(b) limn→∞(2n + 5n)1/n, ¤T n ucb.

2. (u15%) (a) qƒby = y(x) Å— y(1) = 1 £ x3 − 3x2y + y4 + 1 = 0. ° y′(1)
£ y′′(1) 5M. (®5%) (b) q x(t) = a(t − sin t), y(t) = a(1 − cos t). ° dy/dx Ê

t = π/6 5M. (5%)

3. (10%) °
d

dx

∫ x3

x2

dt

t3 + 2
.

4. (10%) °

∫ π/4

0

sec2 θdθ√
1 + tan θ

5M.

5. (10%) �ø7Õ®5, wxê§0¸[Þ	A£ª. qÊÇávÈt = 0v, š�r = 1.
7Êt = 1v, ®5Ü Ÿñ	í7/8. (a) °ÊL<tv, ®55š�. (b) ½ÊtÑÖýv, ®

5êr¾Ü.

6. (15%) q f(0) = 0, 7ú x 6= 0, ì2f(x) = x3 sin
1

x
. °f ′(0) £ f ′′(0)5M. J

u.æÊ, ~zpÜâ.

7. (10%) Êy = f(x)5Ç,, ©Q (a, f(a)), (b, f(b)) sõí(¨ÊdÝ. Jf(a) =
f(b), †¤ÝÊd®�Ý. ° y = sin x, 0 ≤ x ≤ π, F�®�Ý5�ÌÅ�.

8. (15%) q f(x) = x4 + 2x3/3− 8x2 − 8x + 13. ~N|w¯±5T, po5T, 1ú

|wfÇ.

9. (15%) àÇ, �Åj$�‘, AB = 17AD'Å'Å. zõA~ƒ(BC,. (Ä
¤4PAR ∼= 4PQR.) °x = APU) 4PQR 5Þ	Ñ|ü.
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